Sanity-Check for WIND.nc

Var: WIND
WIND min WIND max
[Mn: 2.54e-02 - Fn: 1.90e+00
400 Umax: 3.26e+_"£& 1.6 400 Umax: 2.42e+91
mean: 6.84e mean: 1.11e+861
{std: 3.45e-01 {std: 2.68e+00 16
350 q_2: 2.24e-01 1.4 350 q_2: 6.41e+00
q_50: 6.17e-01 q_50: 1.08e+01
300 4q_98: 1.62e+00 ¢ L 15 300 4q_98: 1.74e+91-_.& | 14
k F 4
250 A 250 A
1.0 12
200 200
- 0.8
150 - 150 - L 10
0.6
100 A 100 A
: 0.4 8
50 50 -
0 - T Era 0 _ 3 = A .
0 100 200 300 400 0 100 200 300 400
WIND mean WIND mean - distribution
400 Tin: 7.45e-01 _ v 4 103
Tmax: 1.06e+£01 wikeds 3’ it 1
mean: 4.35% ’““"#‘3 -
350 4std: 9.24e-01 SV e ot
q_2:2.35e+00 - ,,{ :
q_50: 4.36e+00
300 4q_98: 6.23e+00" o
o - 5.0 o]
. C
g
- 4.5 5
O
(@)
- 4.0 o
Y
o
- 3.5 #*
3.0

102 i
2.5 1




